TOMAHAWK

TPC80, TPC80H
PLATE COMPACTOR Parts Manual







Part Kit

(If Available)

PARTS LIST

Part No.

Part Name

1 5/16-24*1-UNF-G5 Screw 1
2 GB/T5287-¢8 Washer 3
3 GB/T894.1-¢$30 Retaining Ring 1
4 GB/T893.1-¢62 Ring 1
5 JPC80.5-1A Clutch Drum 1
6 GB/T276-6206-2RS Bearing 1
TPC80H-CLUTCH [ 7 JPC80.5.1A Clutch 1
8 HZR96-9 Key 1
9 CH260 Engine 1
TPC80-BELT Buy 10 A29 V Belt 2
11 GB/T5783-M12*30 Screw 1
12 GB/T93-912 Washer 5
13 JPC80.4-7 Washer 1
14 GB/T1096-A7*7*20 Key 1
15 JPC80.4-5 Pulley 1
16 GB/T5783-M8*25 Screw 8
17 GB/T93-¢8 Washer 19
18 |GB/T13871-TC32*48*8 Oil Seal 1
19 JPC80.4-3 Bearing Holder 1
20 GB/T3452.1-¢$80*3 O Sealing 2
21 NJ307EMC3 Bearing 2
22 JPC80.4-6 Drain Plug 1
23 JPC80.4-1 Exciter Housing 1
24 GB/T5783-M12*45 Screw 4
25 JPC80.4-2 Exciter Shaft 1
26 JPC80.4-4 Bearing Holder 1
27 GB/T96-¢10 Washer 4
28 GB/T889.1-M10 Nut 4
29 GB/T6170-M10 Nut 5
30 GB/T5783-M10*50 Screw 1
31 HZR80-4 Rubber Stopper 1
32 GB/T97.1-¢8 Washer 4
33 GB/T5783-M8*16 Screw 6
34 HZR80.4B Kit-Upper Beltguard 1
35 GB/T889.1-M8 Nut 4
36 GB/T96-¢8 Washer 8
37 GB/T5783-M8%45 Screw 4
38 JPC80.2D Console 1



https://tomahawk-power.com/products/plate-compactor-centrifugal-clutch-tpc80h
https://tomahawk-power.com/products/belt-tpc80-and-tpc80h-plate-compactor

Part Kit

PARTS LIST CONTINUED

(If Available) No. Part No. Part Name
39 JPC80-3 Handle Holder 2
40 GB/T93-$10 Washer 8
41 GB/T5783-M10*25 Screw 2
42 GB/T889.1-M12 Nut 4
43 GB/T97.1-9p12 Washer 6
TPC80-WHEELS 44 1WG2.0-60.29 Tire 2
45 TPC80.3.1 Support 1
46 HZR80B-1 Joint Shaft 1
47 HZR80B.6-1 Nylon Bushing 2
48 GB/T882-B-12*30 Pin 1
49 QC/T623-2.5*50 R-Pin 1
50 JPC80.1A Baseplate 1
51 GB/T5782-M12*70 Screw 2
52 JPC80-2 Rubber Sleeve 2
53 JPC80.3B Handle 1
54 GB/T6170-M8 Nut 2
55 HZR80.5.2 Shockmount 2
TPC80-SB Buy 56 GB/T5789-M8%12 Screw 8
57 JPC80.7 Shockmount 4



https://tomahawk-power.com/products/wheels-for-tpc80-and-tpc80h-plate-compactor
https://tomahawk-power.com/products/tpc80h-shock-mounts-set-of-4

Power Your World

Tomahawk understands to keep a job-site running smoothly the proper equipment and
spare parts are needed at the drop of a hat. With same day shipping and faster
delivery times, count on Tomahawk to keep you powered throughout the day! With
long lasting parts and engines, Tomahawk equipment will be the star of your fleet for
years to come. Visit www.tomahawk-power.com to get started today!

TOMAHAWK

TOMAHAWK®, LLC
San Diego, CA

Sales Support You pr. 8+
(866) 577-4476 Tube
sales @tomahawk-power.com

FACEBOOK

. facebook.com/TomahawkPowerUSA
Equipment Support

(866) 577-4476
support@tomahawk-power.com

www.tomahawk-power.com

YOUTUBE
youtube.com/TomahawkPower

INSTAGRAM
@tomahawkpower






